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The figures in the margin indicate full marks for the questions.

Answer the following questions : 1x5=5
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(@) If(@®) f(x)=2x"+3x+2, find the value of f(-3)

(b)
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(d)
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Fill in the blank : (R 3% 57 F41)

Find the mean proportion of 50 and 128.
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Find the co-factor of 6 of the following determinant.
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(e)
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(d)

What do you mean by diagonal matrix?
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Answer the following questions : (any five) 2x5=10
wote il esicebis e Al ¢ (Rt +Aivoh)

(@)

Find the roots of the quadratic equation

x2+17x +30=0

x417x +30= 0 4D ARG T A 10

Write any two differences between determinant and
mafrix.
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Find the value of (= =T 1)
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Integrate (SkfFe 4l) 2 I(Se L +;)dx
Find the area bounded by the x - axis and the cyrye
y=x* between x=1 and x=2
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Answer the following questions : (any four)

x =25 Fifer [efw 11

Find the simple Interest on Rs.6000 from 4" March
2017 to 28" July, 2017 @ 5% p.a.

6000 Bt 4 W5 2017 =t 28 TEIE 2017 toicE =R
5% e o e 01

Divide Rs. 52 among A, B and C in the ratio
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Write down two limitations of LPP.
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Integrate (SF[Fe <40)

.[lzex dx

5x4=20
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(a)

30 gallons of mixture of spirit and water contais 60%
spirit. How much water must be added to it to raise the
percentage of water to 75% ?
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(b) A function f{x) is defined as follows :

f(x)wﬁwﬁm;rwm 3 S
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(d)
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—X, x <0
f(x)=1 %, 0<x<]
2-x, x>1

(® Is the function continuous at x=0?

X=0 © T wfiften T2

(@ Ts the function continuous at x=1 ?
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I the marginal revenue finction is R' (x)=8—6x+2x",

determine the tota] revenue function and demand function.
W it [Seaiion T R (x):8—6x+ 2x* =4,
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Abicycle agent allows 20% discount on his marked price

and makes 20% profit on his outlay. What is the marked
price of the bicycle on which he gains Rs, 2407
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If (3f) “=2(ax+by)2 o (x2+y2)
show that (oot 4 @)
0°u o’u

—

o o= Hat+07)-4



(f) A steel plant produces x tons of steel per week at a total

Lo
cost of Rs (;x —5x"+99x +35J. Find the output

level at which the marginal cost attains its minimum value.
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() Find the value of the determinant.
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Answer the following questions : (any one) 10x1=10
wee gl eren! Bed Al ¢ (Ret <o)
(a) State the assumption of linear programming problem.

Solve the following LPP by using graphical method.
4+6=10

5 P.T.O.




AR AT SEEPTR S 91| OeF (3RS AT
FRYIE eRE ARSI T F41 |

Maximize Z=3x + 4x,

Subject to  x, +x, < 450

® O

(ii)

© O

2x,+x, <600

XaXo =0

) B 5 6

If (i) A={3 4| 2md () F=14
verify whether AB=BA

AB=BA T 727 #7741 | 5
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If @) xy=ax’ +; , then show that
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x2%+ Z(x%—yJ =0 5

Mr Roy borrows Rs. 20,000 at 4% compound
interest and agrees to pay both principal and interest
in 10 equal annual instalments at the end of each |

year. Find the amount of each instalment.
(Given (1.04)10= 0.6761) 5
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(i) A contractor undertook a work to complete in 100
days. He employed 140 men and 60 boys, who
worked 6 hrs a day and finished —i— of work in 80
days. Then he engaged some additional men to
complete the work in stipulated time and all of them
agreed to work 8 hours a day. How many additional
men did he engaged if 1 man is equivalent to 3 days.
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(d) @) Isaunitmatrix a diagonal matrix? Give an example-
2
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Find %. ( % fdfa =)

1
(i) Show that the maximum value of [x +;) is less

than its minimum value. 5
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